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1. In parallelogram OPQR, diagonals PR and OQ intersect atS. Then AROP =
R Q

o P

(i) APQR (ii) AQRS (iii) AQRO (iv) AOPQ (v) AOPS

2. In parallelogramKLMN, diagonals LN and KM intersect atO. Then ALMN =
N M

K L

(i) AMNK (ii) ANKL (iii) AMNO (iv) AKLM (v) AKLO

3. In parallelogramKLMN, diagonals LN and KM intersect atO. Then AMNK =
N M

K L

(i) ANKL (ii) AKLM (iii) ALMN (iv) AMNO (v) AKLO

4. In parallelogram OPQR, diagonals PR and OQ intersect atS. Then AOPQ =
R Q

o P

(i) AQRS (ii) AROP (iii) AQRO (iv) AOPS (v) APQR



5. In rhombus OPQR, diagonals OQ and PR intersect atS. Then AROP=
Q
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(i) AQRO (ii) ASOP (iii) APQR (iv) AOPQ

6. In rhombusDEFG, diagonals DF and EG intersect atH. Then AEFG =
G F
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(i) AGDE (ii) AHDE (iii)) ADEF (iv) AFGD

7. In rhombusKLMN, diagonals KM and LN intersect atO. Then AMNK =
N M

X

-~

L

(i) ALMN (ii) AKLM (iii) ANKL (iv) AOKL

8. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ANOP =
Q P

X

=

0

(i) AQNO (ii) AOPQ (iii) ARNO (iv) APQN



9. In rhombusPQRS, diagonals PR and QS intersect atT. Then ATPQ &

P Q

(i) ASPQ (ii) ATPS (iii) ATRQ (iv) ATRS

10. In rhombusKLMN, diagonals'KM and LN intersect atO. Then AOML
N M

%

K L

(i) ANKL (ii) AOMN (iii) AOKL (iv) AOKN

11. In rhombusHIJK, diagonals H] and IK intersect atL. Then ALJK &
K J

X

H !

(i) ALHK (ii) AKHI (iii) ALl (iv) ALHI

12. In rhombusKLMN, diagonals KM and LN intersect atO. Then AOKN &
N M

e

K L

(i) AOMN (ii) AOKL (iii) AOML (iv) ANKL



13. In kiteBCDE, BD and CE are diagonals. Then ADEB=
D

B

(i) AECB (ii) AFDC (iii) AECD (iv) AFEB (v) ADCB

14. In kiteJKLM, JL and KM are diagonals. Then ALK] =
L

)
(i) ANLK (i) ALMJ (iii) ANM) (iv) AMK] (v) AMKL

15. In kiteLMNO, LN and MO are diagonals. Then APOL=
N

(i) APNO (ii) AOMN (iii)) APML (iv) AOML (v) APNM



16. In kiteOPQR, OQ and PR are diagonals. Then ASPO =
Q

o]

(i) ARPO (ii) ASQP (iii)) ASRO (iv) ARPQ (v) ASQR

17. In kiteOPQR, OQ and PR are diagonals. Then ASQR =
Q

Q

(i) ASRO (ii) ARPQ (iii) ASPO (iv) ARPO (v) ASQP

18. In kiteOPQR, OQ and PR are diagonals. Then ASQP =
Q

O

(i) ARPQ (ii) ASRO (iii) ASQR (iv) ASPO (v) ARPO

19. Which of the following are true?

a) Any two triangles are congruent.
b) Any two circles are similar.

c) Any two circles are congruent.
d) Any two squares are similar.

e) Any two squares are congruent.
f) Any two triangles are similar.

(i) {ef,b} (i) {b,d} (iii) {a,b} (iv) {a,d,b} (v) {cd}



20. Which of the following are true?

a) A sector is a polygonal region.

b) A circle is a polygonal region.

c) A triangle is a polygonal region.

d) A semi-circle is a polygonal region.
e) A square is a polygonal region.

(i) {d,a,c} (ii) {b,e,c} (ii) {ce} (iv) {b,e} (v) {ac}

21. Which of the following are true?

a) Similar figures have same area.
b) Congruent figures have same area.

d) If two figures are similar, then they are congruent too.

)
)
c) Similar and congruent are not synonymous.
)
e) If two figures are congruent, then they are similar too.

(i) {b,ce} (i) {ab,c} (i) {ad,e} (iv) {a,b} (v) {d,c}

In the given figure, points L, M and N are the mid-points of sides JK, Kl and 1] of AlJK. Which of the following are

22.
true?

a) ANJL = ALMN
b) AINM = ALNM
c) ANJL = AINM

d) AINM = AMLK
e) AINM = ALMN
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(i) {b,e,a} (ii) {b,c} (i) {b,d} (iv) {b,a} (v) {a.c.d.e}

K

23. In the given figure, which of the following is true?
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(i) ADEF = ATUS (ii) ADEF = AUTS (iii) ADEF = ASTU (iv) AEFD = ASTU (v) ADEF = AUST
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26.

In the given figure, AFGH = ASRQ. Which of the following are true?

a) GH = SR
b) LF = £LQ
c¢) GH =RQ
d) LH = 4LQ
e) LG = LR
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(i) {b,d} (i) {a,c} (iii) {c,d,e} (iv) {a,c,d} (v) {a,b,e}

In the given figure, ADEF = ASRQ. Which of the following are true?

a) LS = 58°
b) LR =58°
c) £LQ =47°
d) LQ =76°
e) LS = 47°
f) LR =76°

D
Q
47°
S
580 76°
R
E F

(i) {b,d,e} (ii) {c,b,d} (iii) {f,a,e} (iv) {a,b} (v) {cd}

In the given figure, ABCD = ASTU. Which of the following are true?

a) US=13cm
b) TU=13cm
c) US=12cm
d) ST=13cm
e) TU=15cm
f) ST=15cm
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(i) {b,d} (i) {fa,e} (i) {b,c,d} (iv) {c.de} (v) {a,c}



27. In the given figure, which of the following is true?
] |

(i) AGJI = AGHI (ii) AGI = AIGH (iii) AGJI = AHIG (iv) AGI = AGHI (v) AGI) = AGIH

28. In the given figure, which pair of triangles are not congruent ?

A RATA

fig 3 fig 4
1 Il 7 f
I1 Il

figl fig2

(i) fig1 (i) fig3 (iii) fig2 (iv) fig4

29. In the given figure, which pair of triangles are not congruent ?

fig 3 fig 4

figl fig2
(i) fig2 (ii) fig4 (iii) figl (iv) fig3



30. In the given figure, which pair of triangles are not congruent ?
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fig 3 fig 4
/ZA\ |
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figl fig 2

(i) fig4 (i) fig3 (i) figl (iv) fig2



Assignment Key

1) (i) 2) (ii) 3) (ii) 4) (iii) 5) (iii) 6) (i)

7) (ii) 8) (iv) 9) (i) 10) (i) 11) (ii) 12) (iv)
13) (v) 14) (ii) 15) (iii) 16) (iii) 17) (v) 18) (iii)
19) (ii) 20) (iii) 21) (i) 22) (v) 23) (iii) 24) (iii)
25) (i) 26) (iv) 27) (ii) 28) (iii) 29) (iii) 30) (iii)

Copyright © Small Systems Computing Pvt. Ltd.



